Economics 330: Money and Banking (Professor Kelly)

Spring 2001

Midterm #1 Answer Key
Disclaimer: The following answers are representative, but are not comprehensive.  Other responses may be valid.  We apologize for, but are not responsible for, any errors.

Identifications:  Each ID is worth a maximum of 4 points (out of 50 on the exam) – two points for an accurate definition, and two for the importance of the term with respect to this course.

1. Capital Adequacy Requirement:  In order to change a bank’s incentives in favor of taking on less risk, a minimum amount of equity capital is required by regulatory agencies.  To be classified as well capitalized, a bank’s leverage ratio must exceed 5%, and a value below 3% triggers restrictions.  Off-balance-sheet activities and trading activities have similar risk-based-capital requirements.

2. Regulatory Forbearance:  In some instances regulators or regulatory agencies do not fully implement the regulations over which they have oversight, usually for political or bureaucratic reasons.  The hope is that by forbearing strict sanctions or regulations, the regulated institution will remedy whatever is ailing it, thereby avoiding potentially unsavory ramifications of the implementation of the regulations.  This was most evident with the FSLIC which refrained from shutting down insolvent S&L’s, in large part because it didn’t have sufficient funds to pay off the depositors of these S&L’s.

3. Discount Yield:  Dealers in U.S. Treasury bills quote interest rates as a yield on a discount basis, or discount yield.  The discount yield understates the yield to maturity, and this bias becomes more serious as the maturity of the discount bond increases.  The understatement is due to two peculiarities: (1) discount yield uses the percentage gain on the face value of the bill rather than the percentage gain on the purchase price of the bill, and (2) it puts the yield on an annual basis by taking the year to be 360 days long rather than 365.

4. Incentive-compatible:  In a contracting arrangement in which there is asymmetric information, one wants the incentives of all parties to be in alignment.  Such incentive compatibility necessarily requires a credible threat of loss to the party that deviates from the contract.  In the case of a lender-borrower arrangement, for example, the lender wants the borrower to have high net worth, so as to alleviate moral hazard; the greater the borrower’s net worth, the more she has to lose in the event of default, and thus the greater the borrower’s incentive to behave in the way that the lender expects and desires.

Short Responses:  Each Short Response is worth a maximum of 6 points (out of 50 on the exam).  Your explanation determines your grade – point values given below are merely suggestive.

1. The shorter the maturities of a bank’s liabilities, the more likely the bank is to become insolvent if interest rates rise.

a. (3 points)  Regardless of maturity, if a bank has a negative gap, then an increase in interest rates will reduce profits and potentially cause a bank to become insolvent.

b. (3 points) Ignoring rate-sensitivity, if a bank’s liabilities are of shorter maturity than its assets, then as interest rates rise the cost of liabilities will increase more rapidly than the return on assets.  The shorter the maturities of the liabilities, the more likely the bank will become insolvent before it can obtain new assets.

2. In the U.S. wire transfers are relatively unimportant since they account for only 0.03% of all transactions.

a. (2-3 points) The transaction volume of wire transfers is small, but they comprise upwards of 80% of the dollar value of all transactions in the U.S.

b. (1-2 points) Major wire systems

i. Fedwire enables all Federal Reserve members to wire funds to each other, which they do on a more or less daily basis for reserve requirement purposes

ii. CHIPS and SWIFT are major multilateral net clearinghouses

c. Banks regularly move all of their liquid liabilities into sweep accounts and back again, so as to avoid reserve requirements.

d. (2-3 points) The principal importance of wire transfers is their reduced transactions costs – both physical and time.  They also largely eliminate float.

3. There are no significant costs to a group of countries switching to a single currency system.

a. (2-3 points) Upon joining a currency union, individual nations forego the ability to exercise independent monetary policy.  Depending on the structure of the new central bank, their ability to influence monetary policy may be restricted.

b. (1-2 points) No competitive devaluation or revaluation policies are available to individual countries.

c. (1-2 points) To ensure stability of the currency union as a whole, fiscal policies are generally restricted.  Fiscal transfers across nations may be similarly restricted.  The importance of these restrictions depends in large part upon the symmetry of shocks hitting member nations, and the degree of labor mobility within the union.

d. (1-2 points) There are some non-trivial physical and administrative costs associated with switching to a single currency.

4. Intense competition coupled with branching restrictions has given rise to the proliferation of banks in the U.S.

a. (3-4 points) Beginning with the McFadden act and the subsequent Douglas Amendment, banks were restricted from branching across state lines.  These restrictions were circumvented in assorted manners through the years, but the net result was that a very large number of small banks came into existence in the U.S.  These banks predominately served local customers, and faced little or no competition.  This lack of competition was tolerated, and even fostered, because of strong aversion by the American public to concentrated financial power (c.f. The Wizard of Oz).

b. (2-3 points) Since 1985 the number of banks has declined very significantly, in part because of bank failures.  The more significant reason is bank consolidation, due to the relaxation/elimination of branching restrictions, as well as increased competition with non-bank financial institutions.

5. Movements in the narrow monetary aggregates (those for which currency is a major component) no longer provide the same information as they have historically because of the size of overseas currency holdings.

a. (2-3 points) Around 70% of the U.S. currency in circulation is overseas, and about 80% of all currency growth since 1980 is attributable to increased foreign demand.  These holdings are largely due to the stability of the U.S. dollar from both inflation and political standpoints.  Moreover, these currency holdings are very difficult to determine.

b. (2-3 points) Changes in foreign demand for the U.S. currency may have little or no impact on the U.S. domestic economy.  Moreover, to the extent that U.S. currency is increasingly subject to foreign money demand volatility, the monetary aggregates are increasingly poor indicators or policy targets.

c. (1-2 points) The monetary aggregates were poor indicators and targets already, aside from the foreign demand issue, because of financial market and technological innovation.  There are numerous other ‘near monies’ that are substitutes for U.S. currency, increasing the disconnect between the narrow monetary aggregates and the domestic economy.

6. The use of credit scoring increases the ease and reduces the cost of obtaining a small business loan.

a. (2-3 points) Credit scoring is very quick and very easy when there is a scoring model that is applicable to a particular small business.  The objectivity and simplicity is increasing the pool of potential lenders, making it potentially easier to obtain a loan.

b. (1-2 points) Credit scoring facilitates securitization of small business loans, reducing the cost of making such loans, and thereby reducing the cost to borrowers.

c. (2-3 points) Small businesses are heterogeneous and it is difficult to construct scoring models that are applicable to them.  A business that is ‘atypical’ in some sense may be rejected for a loan on the basis of the scoring models, and may find it difficult to obtain a loan.  Also, the terms of small business loans may be very inflexible, particularly if the lender is not a small local bank.

Essay Questions:  Each essay is worth a maximum of 12 points (out of 50 on the exam) 

Question 1: In 1998, flow of funds accounts show that assets of U.S. HHs in equities have surpassed real estate holdings. Analyze this conclusion with respect to the following: 1) note interpretive issues with the data underlying this conclusion; and 2) discuss what measures might be used to alter HH portfolios if they are unbalanced with too great emphasis on real estate holdings.

Answer: Part 1 of the question consists of 6 points, which involves presenting substantive facts and analysis of those facts. Part 2 consists of 4 points. Overall quality of answer commands 2 points.

The Facts:

1) At the aggregate level, financial assets are worth 9.4 trillion while real estate assets are worth 9.05 trillion.

2) HH level data, on the other hand, show that a minority of HHs (42%) holds stocks. The bottom 30% of HHs does not hold any stocks or real estate assets. Only the top 5% of the HHs have their assets concentrated in the stock market. For the intermediate range HHs (30-90%), 66% of their asset holdings are in real estate.

3) From early 20s to mid 40s, share of real estate in average HH portfolio remains more or less the same (66%).

Explanation: Stock market investment is the rich man’s game. High mortgage payments make the HHs get locked into real estate investment. Any limited investment in real estate is not possible. HHs should have a high real estate share and a low equity share in the life cycle as they establish themselves financially. Then, as they age and begin to save for retirement, their real estate share should fall and their equity share should rise.

Remedial Measures: 
1) Trading in metropolitan house price indexes should be established.

2) Housing partnerships should be established.

Question 2. If the next chair of the Fed has a reputation for advocating a higher rate of money growth than the current chair, what will happen to the interest rates?  Discuss the resulting possible situations.

This question is directly from the textbook, pages 120-123. If money supply growth rises, there will be liquidity effect and interest rates will go down (2 points). But a decrease in interest rates will lead to rise in prices and income and money demand will go up and interest rates will rise (2+2 points). Rise in expected inflation through Fisher’s hypothesis will further raise interest rates (2 points). The net effect depends on which effect dominates (2 points).

Overall quality of your answer commands 2 points.

Question 3. Turkey is currently undergoing a disastrous financial crisis. Invoking arguments from adverse selection and moral hazard, explain how increasing uncertainty, increasing interest rates, stock market decline and deterioration of bank financial health can explain such a crisis.

Increasing uncertainty, increasing interest rates, stock market declines, and deterioration of bank financial health—each of these headings and its explanation commands 2 points. Resulting issues of debt deflation and currency crisis involve two points. Overall quality of your answer gives you two maximum points.

Increasing uncertainty in the form of political uncertainty, recession, failure of a prominent financial institution, stock market crash, makes it harder for lenders to screen out good credit risks from—this leads to decline in lending, investment, output.

Increase in interest rates encourage bad credit risks to borrow while the good credit risks are eliminated from the credit market—this leads to substantial decrease in lending, investment and output.

Stock market decline: Results in a decline in the value of collateral and corporate net worth, which aggravates the moral hazard and adverse selection problem.

Worsening of bank financial health : Bank balance sheets deteriorate which leads to depositor withdrawal and bank panics, decrease in money supply and aggregate output.

All these lead to decline in aggregate output, price level, debt deflation, increase in debt denominated in foreign currency and currency crisis.

Question 4: “ Systemic risk arises when an institution’s failure interferes with financial services consumer’s ability to obtain important financial services in a timely manner to such an extent that overall economic activity is reduced.” 

Discuss how and to what extent FDICIA reduced financial market systemic risk. Assess the extent to which systemic risk still exists.

For this question, you will have to consult the reading “Too-Big-to-Fail After FDICIA” by Larry D.Wall.

Measures taken by FDICIA to reduce systemic risk (6 points).

(1) Enhanced Stability and More Timely Closure (1.5 points).

(2) Limits on Interbank Credit Exposure (1.5 points).

(3) Final Net Settlement (1.5 points).

(4) Netting of Interbank Payments (1.5 points).

Unresolved Issues: (2 points each)

(1) Bank’s off-balance sheet activities are beyond the control of FDICIA.

(2) Contagious bank runs.

(3) Huge size of interbank liabilities undermines the FDICIA’s ability to minimize losses of banks and depositors.

